I HEE-BR
ik [(IEC{ON JEE
| W | s WEN D) [WEICRTE) | FEWES aat ZRt- Uil e
BB 4 MO | RE | mRY | ek | BAfE 5, 5t 5, 5%, § 5% | raom
() | G) | EHR an| | e A am |FE OB | o |FR
1| RSTRER AfE | MSZ | 3,580 66 $45.4.1 58 | 50 0 0 9.7 0.7 67.7| 50.7 | 4E
2 |BENEAE ABE | MST | 4,059 62 S55.6.1 33| 27 0 0 5.6 1.2 38.6 28.2 | 4E&
R 91| 77 0 0| 153 1.9 106.3 | 789 0.0 0.0
1 |RE#EEE M| DR 446| 16 H23.4.1 2 2 0 0 0.0 0.0 2.0 2.0
2 ot | DFE 450| 10| $58.6.10 4 0 0 0 1.8 0.8 5.8 0.8
3 |BiEkRE Zofth | D% | 1,079] 27 H2.4.1 0 0 5 0 1.7 0.0 6.7 0.0 @)
4 | EWTEIURE ot | iRk 288 35| H9.11.22 1 1 3 0 0.0 0.0 1.0 1.0 7.0 701 O
5 | BidkEzm Zofh | Pk 360 24| H14.4.21 0 0 0 0 1.0 1.0 1.0 1.0
6 | LMHBE S Foff| DRk | 1,085 22| S54.11.12 7 7 2 2 2.4 0.0 11.4 9.0
T |2 — | Tofth| DRk 30 3 H13.4.1 0 0 0 0 0.0 0.0 0.0 0.0 2.0 00| O
8 |PREEEEFERAIERE | Zoofth| OF% | 1,598) 48 H14.4.1 9 2 2 0 0.6 0.6 11.6 2.6
=M OB 23| 12| 12 2 75 24 425 | 164 9.0 7.0
1 |SWv=FEm 165 | 87 0 0| 145 9.9 1795 | 96.9 Hokok Aok
11 [SneEhg KM | pR% | 5,799| 322 | 119.11.29 37| 20 0 0 1.9 1.9 389 | 219 [E=) otk ok
1-2 [kiifn KB | MSZ | 3,015] 72| S$49.1.11 16 7 0 0 1.4 0.9 17.4 7.9 5] ook ok
1-3 | B0 AREE | PR | 2,206 144 H9.4.25 15 7 0 0 3.2 1.7 18.2 8.7 =] ook otk
1-4 | R A | DR 600 54 H28.1.4 0 0 0 0 0.0 0.0 0.0 0.0 [E=g otk ok
1-5 | K& AREE | PRE% | 4,084] 223 R1.5.7 0 0 0 0 0.0 0.0 0.0 0.0 =3 47.9 3.0 O
1-6 | KE AR | ST | 3,499 78 $62.6.1 17 8 0 0 1.9 1.9 18.9 9.9 5] ook ok
1-7 |BER KA | BER 570 9 H16.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =] otk otk
1-8 | Fe AREE | DFER 537 11 H14.7.2 0 0 0 0 0.0 0.0 0.0 0.0 =53 ol otk
1-9 | =AfohE oyfE | PR 227 4 H12.5.6 0 0 0 0 0.0 0.0 0.0 0.0 =3 otk ook
1-10 [#78F ARfE | BSZ | 1,135] 16 H10.6.1 14 8 0 0 0.8 0.0 14.8 8.0 [E=] stk ook
1-11 [ KEH AfE | DFx 501 11 H4.6.1 0| of o] o0 0.0 0.0 0.0 0.0 =] sk sk
1-12 | £HE AREE | DFER 365 15 H12.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =53 sofok otk
1-13 | Ji il AHE | DFx 586 21 H18.5.1 o of of o 0.0 0.0 0.0 0.0 =] sk oo
1-14 | 5.8 B | ST | 2,487| 87|  S56.12.8 16| 10 0 0 0.7 0.0 16.7 | 10.0 [E=) stk ook
1-15 | 5855 AAE | PR 755 24| S61.4.15 0 0 0 0 0.0 0.0 0.0 0.0 =] otk ok
1-16 |PE5fi S| DFER 537| 14 H4.10.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g ook sokok
1-17 | AREE | PR | 1,0200 22 $53.5.1 12 8 0 0 2.1 1.9 14.1 9.9 =) otk okt
1-18 S HiE A AR | DFER 594| 26 H8.4.9 0 0 0 0 0.0 0.0 0.0 0.0 [E=g ook sofok
1-19 [ & LA AfE | DFx 423) 10| H10.4.7 0| of o] o0 0.0 0.0 0.0 0.0 =] sk oo
1-20 |#% AfE | PFEX | 2,976 243 H17.7.5 14 8 0 0 1.6 0.7 15.6 8.7 5] ook sofok
1-21 | RASRH i | Dfix 305 48| HI19.4.1 0| of o] o0 0.0 0.0 0.0 0.0 =] sk oo
1-22 |t AfE | PFX | 2,114] 146 120.5.1 8 4 0 0 0.9 0.9 8.9 4.9 5] ook sofok
1-23 | ‘5 A | DR 504| 15 H12.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =] otk okt
1-24 | BRI AfE | PFR% | 1,296) 78 H25.1.4 16 7 0 0 0.0 0.0 16.0 7.0 =R ook sofok
1-25 |FEiifn A | PRRR | 1,315 20 $60.8.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 stk ook
2 |EREH 15| 6| o o| a3 6.1 233] 121 | 764] 283
2-1 | LR Aff | AR | 2,376 161 $56.6.2 15 6 0 0 8.3 6.1 23.3 | 12.1 SR 33.9 17.5
2-2 | RS oy | DFRR 242| 18| HI8.1.17 0 0 0 0 0.0 0.0 0.0 0.0 =] 8.3 1.7
2-3 | KA YR | PR 479| 68| H20.1.15 0 0 0 0 0.0 0.0 0.0 0.0 =] 9.0 2.6
2-4 | K rfE | DFRR 164 11 $62.5.19 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.9 0.7
2-5 | FJ5 oyl | PR 391| 40 | S61.11.11 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.5 1.8
2-6 |7=HiFie rfE | DFRR 284| 58 | HI17.4.23 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.4 0.9
2-7 | B YR | PR 133] 20| S60.5.13 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.1 1.4
2-8 |t OrBE | DFRR 127 8| $63.5.10 0 0 0 0 0.0 0.0 0.0 0.0 =] 3.7 0.0
2-9 | KA YR | PR 197 12 H5.6.8 0 0 0 0 0.0 0.0 0.0 0.0 =] 3.6 1.8
3 |HAmTt 20| 11| 10 3| 265 10.7 56.5 | 24.7
3-1 | AfE | MNZ | 2,769 96 | $62.10.31 14 8 0 of 17.0 7.2 310 | 152 | 4
3-2 |dbortE SfE | DFRR 558| 44 H11.8.1 6 3 0 0 9.5 3.5 15.5 6.5 | 4E
3-3 | I A O | DFRR 90| 10| S55.5.19 0 0 2 0 0.0 0.0 2.0 0.0 | 4
34 | TR Zofh | BFEx 98 8 $59.5.1 0 0 2 1 0.0 0.0 2.0 1.0 | 4
3-5 PRI | DFRR 80| 15 $62.5.1 0 0 2 1 0.0 0.0 2.0 1.0 | 4
3-6 |dLFEEA Zofh | FE% 85| 18 S51.6.1 0 0 2 1 0.0 0.0 2.0 1.0 | 4
3-7 |NHIAZ O | DFRR 98| 20 $58.5.1 0 0 2 0 0.0 0.0 2.0 0.0 | %
4 | AMm 10 3 0 0| 199 44 29.9 74 413 30.9
4-1 | AT A | PR | 1,934] 70| S60.4.11 10 3 0 0 19.9 4.4 29.9 74| &
4-2 |y SyBE | MNZ | 2,1200 74 H5.5.8 0 0 0 0 0.0 0.0 0.0 0.0 =3 16.7 120 O
1-3 | &5 oyl | DR 308| 16 H6.7.14 0 0 0 0 0.0 0.0 0.0 0.0 [Eg 7.9 69| O
4-4 | RISy oyEE | BERR 896 42| HI13.4.14 0 0 0 0 0.0 0.0 0.0 0.0 =3 16.7 120 O
5| o] o] of o oo] o0 00| oo | s21] 320
5-1 |#i)ll orBE | DRER 532 39 $62.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 13.2 69| O
5-2 | AR PRE% | 1,511 115 | S63.10.8 0 0 0 0 0.0 0.0 0.0 0.0 [Eg 25.1 13.8] O
5-3 |JIIER iR | BEER 238 20 H4.8.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 3.4 23| O
5-4 ¥ SriE | DFRR 464 47| H3l.4.16 0 0 0 0 0.0 0.0 0.0 0.0 |5 11.0 9.0 O
8 |HFBHH ol of of of oo 0.0 00| oo | 72 518
6-1 | M| BRNZ | 2,038] 146 $58.6.1 0 0 0 0 0.0 0.0 0.0 0.0 |5 43.4 322 O
6-2 |HH iR | BFER 659 45 $62.5.8 0 0 0 0 0.0 0.0 0.0 0.0 =] 13.4 109] O
6-3 |FEn Syff | DR | 1,740 170 | H22.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =g 20.4 144 O
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W | B | messo WEN D) [WEICRTE) | FEWES aat ZRt- Uil e
BB 4 MO | RE | mRY | ek | BAfE 5, 5t 5, 5%, § 5% | raom
() | G) | EHR an| | e A am |FE OB | o |FR
7 |hNE™H 1 6 0 o| 331 86 441 146
7-1 [JnZE AfF | PFR% | 2,480 55| HI6.11.7 6 3 0 0 13.5 3.6 19.5 6.6 | 4
7-2 | B AfE | PR | 1,291 140 H16.4.8 2 1 0 0 6.1 0.0 8.1 10| 4
(e E11EY)] A | PFR2 | 1,032 119 | H16.12.14 1 1 0 0 5.9 1.4 6.9 2.4 | 4
-4 |BBih M| MNZ | 1,672] 132 | HI16.3.14 2 1 0 0 7.6 3.6 9.6 46| 4B
8 (g 52| 31 0 0 0.0 0.0 520 | 310 128.2 71.4
8-1 |y AfE | DF% | 6,940 510 H18.7.1 36| 23 0 0 0.0 0.0 36.0 | 23.0 5] 55.1 23.4
8-2 |Hii)ll AREE | PR | 3,096 120 R3.4.8 3 2 0 0 0.0 0.0 3.0 2.0 =] 16.1 10.6
8-3 | Bk AME | AT 978| 57 $55.5.1 3 1 0 0 0.0 0.0 3.0 1.0 =3 7.6 4.7
8-4 |BAHIR AREE | PRE% | 1,940] 54| S55.8.20 4 2 0 0 0.0 0.0 4.0 2.0 =] 10.2 7.3
8-5 |z AfE | PFEX | 1,910] 84 H4.11.1 3 1 0 0 0.0 0.0 3.0 1.0 =3 16.4 8.9
8-6 | M4t RfE | MSZ | 1,772| 103 | S58.3.25 3 2 0 0 0.0 0.0 3.0 2.0 =] 14.8 10.9
8-7 | £ ol | DFR 457 9| H20.11.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 3.5 3.0
8-8 |2k ZOfh| Dk 39 0 HI.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 2.2 1.0
8-9 |FMG, 4 ot | iRk 59 0 S51.6.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 2.3 1.6
9 | 41| 21| o of 48 0.0 516 210 | 450 53
9-1 | A | PF | 5,931 152 | $59.10.31 23 7 0 0 2.9 0.0 25.9 7.0 [E=] 11.9 4.4
9-2 |/ OyBE | PRER | 2,069] 17 H14.4.1 8 3 0 0 0.0 0.0 8.0 3.0 [E=] 10.4 |k
9-3 | JIIBLERH O oyfE | DRR | 1,316 14| H14.7.21 8 5 0 0 1.7 0.0 9.7 5.0 e 12.4 |soks
9-4 | FiFE SyBE | PRE% | 1,236] 65 H20.5.1 8 6 0 0 0.0 0.0 8.0 6.0 =] 10.3 0.9
10 |deAd ol o of of o0 0.0 00| oo | 334] 190
10-1 | g AREE | PR | 1,224 83| S59.4.22 0 0 0 0 0.0 0.0 0.0 0.0 =3 23.4 10.0] O
10-2 |Z&% AR | DFER 5000 19| H26.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =) 10.0 9.0 O
1 |f7TET AfE | BFEX | 2,081 105 H15.5.1 5 0 0 0| 192 15.3 242 | 153 | %€
12 | AW 0 0 0 0 0.0 0.0 0.0 0.0 57.3 413
12-1 | e AREE | ST | 1,283 54| $62.10.20 0 0 0 0 0.0 0.0 0.0 0.0 =3 18.6 13.0] O
12-2 |5k oyl | DR | 1,003] 120 H10.6.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 13.0 93| O
12-3 | SEAH L oYRE | PR 257| 24 H6.11.7 0 0 0 0 0.0 0.0 0.0 0.0 =3 9.9 73] O
12-4 |WE SRR | BFER | 1,121 67| H9.10.28 0 0 0 0 0.0 0.0 0.0 0.0 =53 15.8 11.7] O
12-5 | AE =32 ZOfth | PR 78 8 1H8.5.2 0 0 0 0 0.0 0.0 0.0 0.0 | &
12-6 WA= Zofth | DFEx 90 12 H13.8.1 0 0 0 0 0.0 0.0 0.0 0.0 | £
12-7 | Fa3a ZOfth | PR 67 4 H3.4.1 0 0 0 0 0.0 0.0 0.0 0.0 | &
12-8 B3 Zofth | DFEx 60| 12| R6.10.24 0 0 0 0 0.0 0.0 0.0 0.0 | £
13 |MR&™H 3 2 8 0 6.0 1.0 17.0 30 48.2 13.0
13-1 | &4 AfE | PF% | 4,990 58|  S54.11.1 3 2 3 0 6.0 1.0 12.0 3.0 5] 19.4 5.0
13-2 | W ARfE | ARSZ | 1,238 98 H3.7.21 0 0 0 0 0.0 0.0 0.0 0.0 =] 10.2 3.0
13-3 [ KH A | DFRR 657| 42| HI7.11.1 0 0 0 0 0.0 0.0 0.0 0.0 =) 9.3 4.0
13-4 |LF A | DR 872 26 H8.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 9.3 1.0
13-5 [REABRAT = orfE | DFRR 62 0 H18.7.1 0 0 5 0 0.0 0.0 5.0 0.0 =) 0.0 0.0
14 |JBEH ol o of of oo o0 00 oo | 495] 202
14-1 |HBHL g A | PFR% | 1,070 97 | H22.7.17 0 0 0 0 0.0 0.0 0.0 0.0 =3 26.3 154 O
14-2 |k | ARAE | DERR 803 86 H25.7.3 0 0 0 0 0.0 0.0 0.0 0.0 =3 15.7 94| O
14-3 [JI[H A | AL | 1,010 40 | H5.12.22 0 0 0 0 0.0 0.0 0.0 0.0 =3 7.5 441 O
15 |BMATH 19 9 0 0| 186 15.5 376 | 245 Hook otk
15-1 |4 i sT AfE | MNZ | 3,235 147 S58.4.1 19 9 0 0 18.6 15.5 37.6 245 | 4
15-2 |4k ZOM| BER 315 19| S63.11.1 0 0 0 0.0 0.0 0.0 0.0 =] otk e
15-3 [Fg Zofth | D% | 2,302] 133 H26.9.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 ok wkk| O
15-4 |rhge ZOM| BER 788| 65 H24.6.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 stk sk O
16 |{RFET™H 10 4 3 0| 122 29 25.2 6.9
16-1 [B i Afif | AN | 2,707 28 $59.7.1 10 4 0 0 11.6 2.9 21.6 6.9 | #&
16-2 B =59 SfE | DFRR 160 6 H3.7.2 0 0 0 0 0.2 0.0 0.2 0.0 | 4
16-3 | KF 5y Sy | PR 140 6 H9.4.1 0 0 3 0 0.2 0.0 3.2 0.0 | 4
16-4 3% L%y Zofh | BFEx 108 6| S62.10.18 0 0 0 0 0.2 0.0 0.2 0.0 | 4
17 |£FH 0 0 0 0 0.0 0.0 0.0 0.0 13.0 9.0
17-1 | 3Pl AAE | ASZ | 1,460 54 S57.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 11.0 80| O
17-2 | A A Sy | PR 557| 22 | H27.2.12 0 0 0 0 0.0 0.0 0.0 0.0 2.0 o O
18 | Pl 19| 10 0 0| 225 1.7 415 | 217 135 11.6
18-1 | BRilirfi e AfE | PFE% | 4,693) 56 $63.7.3 19| 10 0 0| 225 11.7 415 | 217 | 4
18-2 | BB B | BERR 987| 21 H5.7.15 0 0 0 0 0.0 0.0 0.0 0.0 13.5 11.6] O
19 |EART 8 6 4 2| 233 134 353 | 214 11.0 1.1
19-1 | W03 1| AME | ASE | 2,326] 98 H4.3.13 5 4 0 0of 135 6.9 185 | 109 | 4
19-2 WALl AfE | PR | 1,034 67 H15.4.1 3 2 4 2 9.8 6.5 16.8 105 | 4%
19-3 | SRR T | BFRR 90 7| $52.9.26 0 0 0 0 0.0 0.0 0.0 0.0 =3 5.5 00| O
19-4 | =058 0 T | DFRR 180 8| $59.7.10 0 0 0 0 0.0 0.0 0.0 0.0 5.5 L1 O
20 (ER® AfE | BF8% | 15810 96 | H30.10.1 4 1 2 0| 148 37 20.6 47| ¥
21 |Enm AfE | BFEY | 4.804| 209 H124.1 62| 43 0 0 1.0 1 630 | 440 | fE
22 | B 6 3 3 o| 137 14 227 44 0.7 0.0
22-1 | A M| M7 | 3,822 83| S6L.11.1 5 3 0 0 9.5 1.4 14.5 4.4 | 4B
22-2 | &M fE | DFRR 219 12 H7.4.1 0 0 1 0 2.0 0.0 3.0 0.0 | 4
22-3 | K ol | DFR 116 8| H30.3.12 0 0 1 0 0.0 0.0 1.0 0.0 | 48
22-4 | 511 B | PR 472| 10| H16.3.24 1 0 1 0 2.1 0.0 4.1 0.0 =] 0.7 0.0
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BB 4 MO | RE | mRY | ek | BAfE 5, 5t 5, 5%, § 5% | raom
() | &) | @R e 1 . S |FEE O | S | BE
23 |y ATh 0 0 0 0 0.0 0.0 0.0 0.0 33.6 23.6
23-1 |l e ARBE | ST | 4,255 50 H8.10.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 33.6 236 O
23-2 | H5y ot | DRk 64 0 $62.4.1 0 0 0 0 0.0 0.0 0.0 0.0 |5 gL O
23-3 | P4y B | BFER 227 5| HI4.12.7 0 0 0 0 0.0 0.0 0.0 0.0 =] kel HE O
23-4 |M5y oy | DR 149 0 $60.4.1 0 0 0 0 0.0 0.0 0.0 0.0 |5 gL O
23-5 |ty B | BEER 54 0 S61.6.1 0 0 0 0 0.0 0.0 0.0 0.0 =] kel O
23-6 | & .4y o | DRk 160 0| $62.6.28 0 0 0 0 0.0 0.0 0.0 0.0 == LI (73 O
23-7 | KKy YRR | BEER 199 0 H3.7.17 0 0 0 0 0.0 0.0 0.0 0.0 =] kL3 O
24 |FRiR™ 23| 1 0 o 172 8.0 402 | 190 734 62.5
24-1 | AfE A | AST | 3,579 225 S55.5.8 23| 11 0 0| 17.2 8.0 40.2 19.0 | 4%
24-2 | PRy oy | DR | 2,336] 224 H22.4.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 17.9 148 O
24-3 | WEld sy OyEE | ST 724 18 $59.5.8 0 0 0 0 0.0 0.0 0.0 0.0 =3 8.4 7.0 O
24-4 | el by o | DRk 498 20| $59.6.12 0 0 0 0 0.0 0.0 0.0 0.0 == 10.6 93| O
24-5 | B4y R | BEER 337| 18| S62.7.10 0 0 0 0 0.0 0.0 0.0 0.0 =3 6.7 441 O
24-6 | &Sy SrfE | DFRR 234| 16| S63.11.4 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 7.5 68| O
24-7 | WSy R | BEER 389 18 H4.5.12 0 0 0 0 0.0 0.0 0.0 0.0 =3 7.1 7.0 O
24-8 | BTGy ol | DR 844| 89 H24.4.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 15.2 132 O
25 |FEM ol of of of oo 0.0 00| oo| | eso| 465
265-1 | KEF | BFER | 3,611 130 | S58.11.1 0 0 0 0 0.0 0.0 0.0 0.0 [E=g 44.1 3.1 O
25-2 | LSy YRR | BEER 542| 14 H27.9.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 13.2 8.7 O
25-3 | FJTHSy S| DFER 42 0 $58.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =53 2.6 21| O
25-4 | K4Sy R | PR 99 0 $58.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =3 2.4 12 O
25-5 | TS S| DFER 99 0| S61.8.10 0 0 0 0 0.0 0.0 0.0 0.0 =) 2.4 1.2 O
25-6 | FHARBRAT | ZOf | PR 22 0| H22.6.30 0 0 0 0 0.0 0.0 0.0 0.0 =3 3.3 22| O
26 |$TEETH 12 7 0 0| 155 0.0 215 7.0 140 8.0
26-1 | )AL AfE | PrE% | 1,497 60 S54.6.1 12 7 0 0 15.5 0.0 27.5 7.0 | &
26-2 |fEfko> B AfE | PFEX | 1,213] 57 H5.7.1 0 0 0 0 0.0 0.0 0.0 0.0 =53 14.0 8.0 O
27 @@ & | msr | 3027) 118 H1011.20 6| 4| 1] of 131 8.1 201 | 121
28 P& AfE | gFEX | 2570| 48 561.8.1 3 1 1 0 1.1 0.0 5.1 1.0 =) 9.3 4.7
29 |fRAETH 1 5 2 0| 138 3.2 26.8 8.2
29-1 |fRAE I N7 AfE | ML | 2,712 174 H25.7.1 11 5 2 0 11.7 3.2 24.7 8.2 | 4
29-2 |Z¥%, AR | ST 634 32 H9.7.13 0 0 0 0 2.1 0.0 2.1 0.0 | &
30 |R#lh 14 3 0 0 0.0 0.0 14.0 3.0 245 21.3
30-1 | HURA LTS REE | WSZ | 5,206 176 H2.4.17 13 3 0 0 0.0 0.0 13.0 3.0 5] 16.3 13.1
30-2 | AR | AT 985 18 H5.6.6 1 0 0 0 0.0 0.0 1.0 0.0 [E=g 8.2 8.2
31 |A#W® AfE | fr5% | 2684 16 H1.8.12 3 1 0 0 1.3 1.3 43 2.3 [} 19.7 13.0
32 (Rt 6| 2| o| o 13 13 73] 33| | 298 6.6
32-1 | VRN ARfE | ARSZ | 2,291 90 | H2.11.23 6 2 0 0 1.3 1.3 7.3 3.3 =] 9.9 3.2
32-2 | B4 orfE | DFRR 303| 36 H31.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 5.3 1.6
32-3 | il YR | PR 364| 20| RL.10.21 0 0 0 0 0.0 0.0 0.0 0.0 =] 5.2 0.7
324 |JIIA rfE | DFRR 377 15 R6.4.1 0 0 0 0 0.0 0.0 0.0 0.0 =] 5.0 0.6
32-5 |[fEREZEY OyfE | ST 499 21| HI17.3.27 0 0 0 0 0.0 0.0 0.0 0.0 =] 4.2 0.5
33 |EtRH 47| 31| o| of o0 00 467] 308 | 467] 308
33-1 |EH LRk AREE | DR | 4,464| 194 H6.10.1 29| 19 0 0 0 0.0 29.0 | 19.0 5] 29.0 190 O
33-2 | SUAF oyl | DRz 257| 17 H14.6.1 8 5 0 0 0 0.0 7.9 5.3 =) 7.9 53 O
33-3 | AT oyl | PR 428 8 H21.4.1 10 7 0 0 0 0.0 9.8 6.5 =] 9.8 65| O
33-4 KB H ot | DR 36 6 H3.6.4 0 0 0 0 0 0.0 0.0 0.0 =] kL e (@)
34 |SLHBH o] of of of oo o0 00| oo | 707] 563
34-1 | L4l M| ARSZ | 2,800( 101 H6.9.4 0 0 0 0 0.0 0.0 0.0 0.0 =3 11.2 332 O
34-2 | K | DR | 1,197 68 R5.11.3 0 0 0 0 0.0 0.0 0.0 0.0 [Eg 29.5 231 O
35 |KEM 16| 8| o of 64 20 224 100] | 0.8 0.0
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